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1 2 3 4 5 6 7 8 9 10 11 12 13 14 15 16 17 18 19
Koporogceke 127 1 7.7 - 10C3k 58 | 0,80 1 22 24 390 3 CCP 390 He BUSBIIEHO
Koporoaceke 127 2 34 - - 10C3 30 | 080 2 10 14 120 3 ccp 120 HE BUSIBNEHO
Koporogceke 127 3 9,0 - - 10Ca 68 | 0,80 1 24 32 440 3 CCP 440 HE BUSIBNEHO
Koporoackke 127 4 19 - - 10C3 75 | 0,80 1 23 32 430 3 CCP 430 HE BUSBNEHO
Koporopceke 127 5 9,8 - - 10Ca 68 0,90 1 25 32 520 3 CCP % 520 He BUABNEHO
Koporogceke 127 6 2,8 - - 10C3 5 | 0,90 1 21 24 410 3 CCP § 410 He BYSIBNEHO
Koporofcbke 127 7 53 - - 10Ca 75 | 0,80 1 26 36 480 3 CCP 480 HE BUABNEHO
Koporogcbke 127 8 29 - - 10Cs 70 0,80 1 24 32 410 3 CCP 410 HE BUSIBREHO
Koporopceke 127 9 1,3 - 6C340c 68 | 0,70 | 1A 26 36 430 3 CCP 430 HE BUABNEHO
Koporopceke 127 10 73 - - 10C3 61 0,90 1A 23 28 450 3 CCcP 450 HE BUABNEHO
Paszom 51,4
Koporoaceke 140 -1 42 | (1) 2,3 2,3 10C3 68 | 080 | 1A 26 32 480 3 CCP 480 HE BUSIBMEHO
Koporoaceke 140 2 09 - - - 10Cs3 73 0,80 1A 27 36 490 3 CcCP 490 He BUABNEHO
Koporopacbke 140 3 16,2 - - - 10C3 62 0,80 1A 24 28 450 3 CCP 450 He BUSIBREHO
Koporoaceke 140 4 26 | (1) 24 24 10C3 75 | 080 ] 1A 27 36 490 3 CCP % 490 HE BUSBNEHO
Koporoaceke 140 5 28 - - 10C3 63 | 090 | 1A 24 28 470 3 CCP § 470 HE BUABNEHO
Koporoaceke 140 6 24 - - 10C3 78 | 0,80 1 27 36 500 3 CCP 500 HE BUSIBNEHO
Koporoaceke 140 7 2,5 - - - 10Cak 5 1080 1 19 22 320 3 CCP 320 HE BURBIEHO
Koporopcoke 140 8 29 - 10Cs 78 1 080 1 26 36 490 3 CCP 490 HE BUABNGHO
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Koporoacbke 140 9 135 | (1) 10,5 10,5 10C3 75 | 080 1 26 32 480 3 CCP ] 480 He BUFBIEHO
Koporoaceke 140 | 10 | 25 - - - 10C3 78 | 0,80 1 26 36 480 3 CCP % 480 He BUABIEHO
Koporogceke 140 | 11 57 1 (1) 2,7 2,7 10Cs 78 | 0,80 1 26 36 490 3 CCP = 490 He BUSBNEHO
Pasom 48,1
Koporogcbke 141 1 1.1 - - - 10Ca 78 | 0,80 1 27 36 500 3 CCP 500 He BUABIIEHO
Koporogcbke 141 2 1,2 - - - 8Ca(78)2C3(58) § 78 | 0,90 1 25 36 480 3 CCcP 480 HE BUSIBNIEHO
Koporogceke 141 3 38 - - - 10Ca 62 | 0,80 | 1A 24 28 420 3 ccpP 420 He BURBNEHO
Koporogceke 141 4 1,8 - - - 9C310c 62 | 090 | 1A 24 28 480 3 ccp 480 HE BURBNEHO
Koporogceke 141 5 18,4 - - - 10Ca 62 | 0801 1A 24 30 440 3 CcCP 440 HE BUSIBNEHO
Koporopceke 141 6 0,6 - - - 10C3k 57 1090 | 1A 22 24 420 3 CCP 420 HE BUABIIEHO
Koporopceke 141 7 4,2 - - - 10C3 78 0,80 1 27 36 500 3 CCP © 500 HE BUABNEHO
Koporopcbke 141 8 1,2 - - 10Ca 60 { 0,90 1 20 24 390 3 CCP E, 390 HE BMSBNEHO
Koporogceke 141 9 21 - - - 9C3(83)1C3(58) | 83 | 0,80 1 27 32 480 3 CCP e 480 He BUSIBNEHO
Koporoacbke 141 10 6,7 - - - 10C3 78 | 0,80 1 27 36 500 3 CccpP 500 He BUSIBNEHO
Koporogceke 141 1 2,2 - - - 8C3(68)2C3(53) | 68 | 0,80 1 24 30 430 3 CCP 430 HE BUSIBNEHO
Koporogcbke 141 12 09 1 (1) 0,6 0,6 10C3 73 1090 1 26 36 520 3 CCP 520 HE BUSBNEHO
Koporoackke 141 13 3,6 (1) 3,5 3,5 10C3k 55 0,90 1A 22 26 410 3 CCP 410 HE BUAABNEHO
Koporopceke 141 14 50 | (1) 0,3 0,3 10Cak 57 | 090 ] 1A 23 28 460 3 CCP 460 He BUSIBNEHO
Koporogcbke 141 157 09 | (1) 0,3 0,3 10C3 7% | 080 1 26 32 490 3 CCP 490 He BUABNEHO
Koporogcbke 141 161 06 | (1) 0,5 0,5 10C3 7% | 0,80 1 26 32 470 3 CCP 470 He BUABIEHO
Pasom 48,5
Koporogceke 144 1 2,5 - - - 10Cak 53 1 0,90 1 21 24 395 3 CCP 395 HE BUSIBNEHO
Koporoaceke 144 2 5,2 - - - 10C3k 55 |1 090 | 1A 22 26 415 3 CcpP % 415 He BUSBIEHO
Koporoacbke 144 3 1,2 - - - 10C3 45 | 0,70 { 1A 19°* 20 270 3 CCP ‘ ?:5 270 HE BUSIBNEHO
Koporogceke 144 4 28,0 - - - 10Cak+Akb 5 1080 1 22 24 375 3 CCP 375 He BUSIBNEHO
Pasom 36,9
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